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1. PRRReNR ws Sew T Sfiea/ver fi : ,
: 1x6=6
Choose the correct answer/Answer the

following :
(@) “ToAmeeEEz RER A® wwve, 8 B 4231
RF OFF (P CPOF T 7Nl (TSl

J_?

“The elements that belong to A, but not

to B” is indicated by which of the
following notations?

) AnB (i) AUB
(i) A~B (iv) B~A
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(2)

(b) FRPRe @G deeT  FAEad ST

N2y ?

Which of the following is mnot the

theorem on transposed matrix?

(i) (AB)"=B’A’

W (A) =A

(iii) (A’B’)’ = (AB)’

(iv) (A-B) =A’-B’

dy
M y=Ilnx, O& -2 =?
(c) y=ln .

Ify=1nx,thend—y=? ¥
dx
ke
() —
x
(i) 2ln x
(iir) O
(iv) 1

(d) o[ @D % ?

Which of the following is correct?
(1) _[u dv =uv—fv du

(i) judv:judvadu
(1i1) fudv=fudx—jvdx'
(iv) fudv=J'vdu—uv
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(e)

(@)

(b)

(c)

)

ST SR NI SR FoCHT B |

Write the general form of exact
differential equation.

S S (ST ASH 1L o137 |

Differentiate between vector and scalar.

2. oo Ry & e oo ers fomr @ 4x3=12

Write on any three of the following :

Feqd HPRAEN
Types of function

SN TLAMF-SAM D

Dynamic input-output model

SRS SRS TG 7 S A 79 TR

Relation between average cost and
marginal cost using differential calculus

(@ oo Sge o s 29 el

P25/531

Definite integral and its economic
applications
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3. (@) (i) confas e PR AT RS AN
R e 41 | 4

Explain the three types of set
operation with the help of Venn
diagrams.

(i) TR P S FCOETR @Ferd IRAPHR
[IRIT B[S 4

Explain the co_nceﬁts of ordered
pairs and Cartesian products.

S /Or

(b) () = @ F0: ;

Evaluate :

x>2 . x2-2x

(i) FECH Rtk 7 kfoa, A0 90 -

Check whether the function is
continuous or not :

Foa=1

X128 x4
s L
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(t)

(it)

(5)

@A T IR IR s S
WWW’@%@:

Find the solution of the equation

system using Cramer’s rule :

ST 9T :

Solve the national income model
using Cramer’s rule :

C=a+bYy (@>0,0<b<]1)

/M Vv wWO" Teom we ¢ e
Sl | TS 1, (I RE),
Go (B3R Torcerl S Rfva@nt), a 5
b (2 &3 |

where Y is national product and
C is private consumption. The
symbols I, (private investment),
Gy (government consumption and
investment), a and b are constants.
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721/ Or

(b) RO vo7 qum s TeAmP el TP
SIF PO ifRw (e oo Ml AT

In a three-sector economy, the input
coefficient matrix and final demand

matrix are given as—

0-05 0-25 0-12 200
A=|0-15 0-12 0-20 | (and) F =300
0-10 0-15 0-15 100

N

@R gy qEE IR oD AeT T
Sferear | BeAms Azl (eewd 005, 025
S 0-20 FR5CF2H & TR, 1T 6+3=9

Find the sectoral output using Cramer’s
rule. Also interpret the coefficients
0-05, 025 and 020 in the input
coefficient matrix.

|
; 5. (@ () T2 IN FACO T
? TC =402 +10Q +50

T “RasA1e TF (TVC) Fmc0l Sl |
e TVC Fa-9 499 TER O89S
S s e 5 =4 | 3
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(i)

(it7)

(' Z8)

The total cost function is
TC =402 +100+50

Find the total variable cost (TVC)
function. Also derive the slope of the
TVC function and interpret the
economic meaning of that
derivative.

frr ez @ RF W FEA
TR=10Q0-0Q2. aAIfeF R&E SH Fe
Ry 911 e A AAfRTRT SAMAS
A12® AIEF [P SF A 2, & |

Given the total revenue (TR)
function TR=100-Q2. Find the

marginal revenue function. Also
find the output level beyond which
marginal revenue is negative.

o SR Fo
Given the function
y=6x"—10x2+20

RO JOR ST Slene |

Find the second-order derivative.
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(@)

(8)

31/ Or

frn ez wifdm e

Given the demand function
Q=20(P+1)7"

P =3 titw fEfegeel Sned |

Find the elasticity of demand at
P=3.

fn ez o I/ 7o

Given the total cost function
3
q
TC =1000 +100g —10g° s

AT @ (MC) SF =6 ARTST T I
(AVC)T Sl R S fAefa 1 |
Find the output at which marginal

cost (MC) is equal to average
variable cost (AVC).

I P;=3x2-20x+5 HF P=15+9x
QG Bia Foa e @l Fo =,
o o Afeer IO ARSI
Sge gRT 901

S
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(92)

If P, —3x? —20x+5and P, =15 +9x

are the demand function and
supply function respectively,
then find producer’s surplus under
perfect competition.

(i) efogrem e TR FR

J' 6x+3
x(x+1)

dxd

T Sfere | 4
Find

J- 6x+3 G
x(x+1)

by substitution rule.
<1 /Or

() () I AEF IV T MC =5 —2x+ x> =F,
(oC3 ¥ I¥ 10 R Y5 IF (TC) IF
TS I (AC) Fo 94 29 2 4
If the marginal cost function is
MC =5—-2x+ x2, then find the total

cost (TC) and average cost (AC)
functions at fixed cost 10.
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( 10 )

(fi) oS S Few Py =25 —2x A A
I 4P=10+x, I© P I W« =€
X (X' w9 ARl 9 SRER
TSR Ty Ay 90| 5

The demand function is P; =25—2x
and supply function is 4P =10 + X,
where P represents price and X
quantity. Find the consumer’s

surplus.

() RTToR @ PR ww R ;
[T A0 6

Analyze the following market model
for stability :

Q; =10-5P
Q. =—10+5P.
Qg =3(Qq —©s)

(i) SRS TNFER ST AT
R Sy 590 2

Mention some applicatiozss of

differential equations in economics.
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